BIAE 1

T X Bt @
1. B
fE A
(GENIIARKFTEHY)
K4 T4 R
& o ok TEL :
= B %%
£ H R

(ENITRSAEA R)

23 JiE

(&N D5 D F)

2. [ESHOBE

T AR M

FITTE HiL. 0D P )

pra#E (HE)

HEE R

IZEFE LT EE
%\§%E% ol 4R

[

LAHUTE S

* Hifl

= 3 |

E R H

it % B %

IEMTERE 4 BEERERE

%




3. EXOHE

HENE
(HAERAID)

EEVANE T
cH—E 2

FE et A
- 5 15E

TREES =7 b
(R E L)

titf=— %

RS

T E—ILRA 2k




w48 ()

(i

A i B &

< Ol

& B (A)

IS

L

+ S

X 1

fed
o
e

T O fh

& &t (B)

* (A) = (B)

5. EX0R&EL (GIE{E)

(BN - H)

(

o

A~  # )

2 % H

£ A~ &

)

3 4 H

= A~ F A

(a)

e b5 il
(b)

78 _EReFE
(¢) = (a—Db)

B 5e e OV
HE (@

R A
(e) = (c—d)

HHEIMNL
€3]

B A AR
(g) = (e—9f)




